
1stst bar in each like colored set of 3 bars = FULL-RAD bar in each like colored set of 3 bars = FULL-RAD
2ndnd bar in each like colored set of 3 bars = PHYS-PI bar in each like colored set of 3 bars = PHYS-PI
3rdrd bar in each like colored set of 3 bars = (FULL-RAD)-(PHYS-PI) bar in each like colored set of 3 bars = (FULL-RAD)-(PHYS-PI)

Global 

Tropics 

Extratropics 

                  Land Carbon Responses                  Land Carbon Responses
                FULL-RAD versus PHYS-PI                FULL-RAD versus PHYS-PI   

(a)

(b)

(c)


